
<Mar2O2T# Continuous distributions and Gaussian}
( Reading : § 12.4)

Announcements Quiz 1 grades to be released tonight.

On Cradescope/CMS (total grade)
(Make-up quit yet to be graded . )

without "

drop lowest score
"
correction

,
here's

how things look . -
-

24 = perfect score
Mt → A 4-

18-17→ Btf

10-13 → Ctf

< 10 → you're probably omitting
this quiz score .

-

We
say

random variables X
,
X
'
c- Rd

have the same distribution -if

measurable set SCIRD FIXES)=Pr(✗'c-§ .

To
say that random variable ✗ c- Rd
has probability density f means

S Pr(✗ c- 5) =§flytdy→
Density always satisfies Spzd fly) dy = 1, Ky fly)3o .



Facti If 4×1 hare same density , they have
same distribution

.

0€ Not every distrib has a density,
e-9 .

✗ =gO→ wr probability 1 .

When X has a density , the density flyl
can be defined as

Prlxest
fly) =.

1in

diamlsto
↳tell ' ÷g⑤⑥yes

For random variable ✗ c-11£
,
the cumulative

distribution function ( CDF) is F defined by

Flo )=Pr( ✗ c- ↳ EB )
= F( ✗ so)

Usefulfacti If ✗ has a continuous CEF
,
F
,

then the random variable F(×) is

uniformly distributed in [0,13.

Distention of ☒=F(x) , sailtisfies Pr(Yes)=Pr(F(x)¢§
HS

.

" Z is unit on 6,1] " means

t.OEaeb.SI
,

Pr# c- [a,b])= b- a .



If F is the Continuous) CDF of ✗
and Y=FCx) , then why is Yun

If f- is continuous and FCX) is unit [0,1]
then F is the CDF of X

.

⇒ if Y is Unif[0,1] and F is continuous
, strictly increasing

then ✗F-
"

(4) has CDF F.

[± Exponential distribution with rater

is characterized by
Prfx > e) = e-

ro

f- (a) = I - e
- ro

F- ' (g) = the Q that solves

1- e-
r -0

=y
d- = '-rln(¥) .


